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DIRECTIONS:
Do not open Shis booklet uatil you are told Lo do &0.

Thies 1s a test of your coupetence in high school algebra. Jor
gach problem there are listed 5 possible angwerg, You are Lo work
the problems, determlne the corrsct answer, and indicate your cholce
by maklng a hsavy black mark in the corrvect place on the separato
anewer sheet provided. 4 sampls follows:

1. If 2x = 3, then x ecuals 1 o) 3 5
2 A
(1) § (2 3 (3) 6 . HH \\
(4) % (5) none of these
)

The correct answer for the sample problem is 2 , wilch 1s ans-
wor (4); so you would answer this probles be naking a heavy black
mark under space 4 as indicated above.

If you should change your mind about an answer, be sure Lo erace
completely, 4vold wild guessing, ag wrong angvwers counl agalast you.
Do not mark more than one answer for any problem. Make no stray
marks of any kind on your answer sheetb.

when told to do so, open your test booklet to page 2 and bezla,
when yow have finlshed one page, go on to the next., The working
time for the entire test 1ls 80 wmlautss.
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l, Which of the following is not a rational number?

(WJIL (@) 68 (3) 1.4l () Q/; (5) 0e3336 «

2+ which of the following is a factor of x3 + 167

(1) %% + | (@) x+L4 (N x+2 (L) x+8 (5) none of these

3. TFactor completaly: xh - Ul

(1) (¢ +9) (x = 3) (x *3)

(2) (x ~3) (x> +27)

(3) (x+3) (&% ~27)

L) (2% - 9) (x° +9)

(5) Hone of these

be If £{x} = 3x - 1 and the range of f is tue set {@, 2, Qg , then f

expressed as a set of ordered pairs is
@ {3, 0), 1, 2), (2, 51}
@) {473, 0, 2, 1), (2, 5)3
(3) §lo, v3), (2, 1), (5, 2)¢

) {3, 01, (1, 2), (2, 5}

(5) ilot encugh informstion given

o

5« Which of the following best characterizes the relation 8§ = zkx, y)l v R 2x + 3} ?
(1) S is = functicn
{(2) S is not o function
(3) 8 is a constant funection
(L) 8 is a linesr function
(5) sione of <the above
6o How mauty zellons of 90% alcohol solution must ve mixed with an $0% alcohol
solution to obtain 1000 gallons of £8% alcohol?

(L) 200 (2) 00 (3) 800 (L) 1200 (5) Hone of these



9.

10.

12.

The twelfth term of the geometric Sequence 9, 3V3, 3, « .., is

(1) 93

(2) g
(3) %

(b) 1
3

(5) none of the above.

The expression 3 -yb when simplified is

+J3
1) -3 (2) -1/3  (3) -J3 () 2J2 -3 (5) 3-2/2
3/3 9

Express 0.0002597 in Scientific notation rounded off to three gignificant
figures.

(1) 2.6 x 10l

(2) 2.60 x 10™3

(3) 2.6 x 10™3

(L) 2.60 x 104

(5) None of these.

If logyopx = L4871 + 3 and 1og10 3.07 = .L4871, then x equals

(1) 6.07 (2) 9.22 (3) 3070 (L) 0.00307 (S) noe of the above.

log; 4 [:iogg (1ogy 3%2] equals
(1) 5 (21 (3)0 (k) 10 (5) 2

Divide L4 - 31 , write the answer in & + bi form
§+§I

(1) 7_ + 264 (2) -7 264 (3) -7 =~ 264 (L) 7 - 264
2 29 9 T T

(5) none of these
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13. Find a value of k so that the roots of 2x° + kx + 18 = 0 are

1L When one finds the solution set of the system

16.

17.

positive and equal.

(1) 10 (2) 12 (3) 8 (L4) 16 (S) none of these.

g = 1
2% + 3y - bz = 2

one finds the

(1) solution set is empty.

(2) solution set is finite.

(3) solution set is infinite.

(L) solution set consists only of (1, 0, 0).
(5) none of the above.

Solve the following system J12x2 + h8y2 = 192

X - 2y = |
) {(o, W), (-z,@

() {, 0, (o, -z)}
(3 {(, -2, G, o‘)}

() ¢

(5) none of these.

Solve the inequality x° - 2% - 3« Q.
(1) -lex<3

(2) =-3<x<«1

(3) 0<cx<3

() -2<x<0

(5) none of these.

Solve for =x uhen,x-»l;’ « 10

(1) o0<x <1y (2) 6 <cx <1} (3) 6<x <0

(5) none of these.

X ¢+

y-ﬁ'

(b) 6 <x <1l
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T varics directly ss the sguore of z cnd lnversely a8 p. A ceb of
corresponding values is T = 10, x = &, snd p = 20. in appropriste formula
for P in terms of x and p is:

(1) 7 = 9%

(2) T

il
e
-

(5) Lone ol these

; . . . . . ol s e s
If £ is a real valucd iunctlin with «n inverse © ~, the sreph of [ is
sysmetric to the graph ol f

it

(1} With respecti to the line y
(2) ¥With respect bto the line y = -x
(3) dith respect Lo the x-nxis
(L} ith respect to the yw:=xis

(%) Wone of the above
The shoded portion of ths coordinste plane to the right is the graph of
@ {eo 9l w<il

2 X X

<>[<,y>|_§<03 )
(3) {(x, y)| x»0 and vy O} U {.(X’ v) ‘ x €0 snu y((%

@) {os ] B}

(5) Wone of the aboue ?éééfi::///
~

Y
®




2l. Let f Dbe a real valued function with domain D and the properties if
x€D then -x€ D and f(-x) = -f(x). Which of the following could be
the graph of £7

A~ N ~ @ /‘\_/
(1) . . (2) . ,
-\ | *R -1 ) ” X
N
T /\J W /\__/
(3) ‘ — X (L) - : y X
/-I\jf ! -1 !

{5) all of the above.
22. Let A = 8:{, y)/ }x . y, > ?}. If P = (a, b) is an element of A, then
(1) a=0
(2) b=0
(3) P is the origin
(LY a=0orb=0
(5) a $¥0and b %0
23, For what value of x does 25% =1/5 7
(V2 (2)-2 (31 (b)1/2 (5) -1/2
2l,. If the zeros of a polynomial function f are -3, 0, 1, then
(1) f(x) =x? +2x - 3
(2) £(x) =x3 - 2% - 3x - 3
(3) £(x) =x3 +2x? -~ x
(h) £(x) =x3 «2¢? + Xx
(5) £(x) =(x +31) (x-3)x



26, If P is the polynomial x2 +x + 1, then the factors of P are:
(1) (x+1) (x +1) |
(2) (x+1) (x-1)
(3) (x-1) (x=-1)
(4) P is irreducitle with respect to integers.
(5} none of the above.

26, Which of the following is (x + 7)2 not equal to:
(1) x3 +y3
(2) x3+ nly + 3% + 3
(3) x+92(x+y)
L) (x +y) (2 + 2y +y2)
(5) (x+y) (x+y)(x+y)

97. Let f{x) =x and g(x) «x2 +2, Then g{(f(x is
x

(1) g
(2) x

(3) x2 + 2
x

(W) x + 2

(5) g(x)
28, In the Binomial Expansion of (1 - 8)5 the third term is

@ gl 2 () 5143 (3 5ia’

L

(b) 51 42 (5) none of the above.

kT
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29. The prime factorization ol 12x3 - 2x2 -l isg
(1) 2x (2x + 1) (3x + 2)

(2) (6x% + x) (2x + 1)

(3) % (bx + 2) (3x + 2)

() (6x + 2) (2x° + 2)

(5) lone of tne above

300 3 “""’

3l. axpressed as a single radical with least possible inaefjiyﬁg\ﬁg.equals
1) I
(2) Y00
(3NE”
w) Y&
) Y72
32, Which term in the erithmetic progression li, 1, + « + 1s =772
(1) 28th  (2) 16th (3) 2lith (L) 12th (%) cen not be determined from
siven information
33, Let It = {(1, 2), (2, 1), (3, 3} . Then
(1) ® is an equivalence relation on X = {é, 2, %}
(2) ™l is o function
(3) R is not a function
(L) R™ is an equivalonce relution on X = {1, 2, 3}

(5) R f R
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3.

38.

G

The solution set of x = ’3-5x i3
Z

Wwg @ ok o (33w 2 6 {5}

Which of the following is the complete real solution of the inequality
(x +2)% (& -4) <07

@ fx|x<-23 U {x|x>-2 U {x]x= w3}
(2) {x}(x+2)2<3} U{'x}x> u/3_}

(3) {x/x«h/B}ﬂ fc[(x+2)2>0}

W {x]x>-2}U {x|x= w3}

(5) none of the above.

If Sn{;néintegersf 2+ L+, o+2n“n(n+l)+‘2}, then

(1) 1€s

(2) If k€S, then k +1€S.

(3) S iz the set of Natural numbers.

(L) A1l of the above.

(5) None of the above.

Solve the following system: hx + 2y - 32 = 8

« 3y -5z =0

- y+ z=a8

(1) (-1, 3, 2)

(2) (1, 3, =2)

(3) (-1, =3, =2)

(L) (-1, 3, =2)

(5) HNome of these.

How mapy ways can 3 letters be selected from the word WISDMH if
repetition of letters is not allowed?

(1) 120 (2) 240 (3) 216 (L) 60 (5) Hone of these
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One bag contains 4 red and 6 black balls. Another contains 3 red and
2 black balls. One ball is to be drawn from each bag. Wwhat is the
probability that both balls are red?

(1)1 (2) 6/25 (3) 7/15 (L) 13/25 (5) Nome of these.
A boat, which goes 12 miles per hour in still water, travels on a
river where the current is 3 miles per hour. what is the average
velocity for a round trip, 60 miles downstream and return, in miles
per hour?

(1) 12 3/h

(2) 12

(3) 111/4

(L) Insufficient data to solve this problem.

(5) None of these.









